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Read the passage carefully:

Lipi is little girl. She is nine now. She lives with her parents at Sukhnagar. Every year a
big fair held in the village. It is going on right now. Lipi’s father makes of various masks
of various kinds. He sells them in the fair.

A. Chose the correct answer: 1X4=4
I. Lipiis (seven/nine) years old.
Ii. Lipi and her parents live (Sukhnagar/ Ramnagar).
lii. Lipi’s father makes (doll/masks).
Iv. The fair held in (village/ town).
B. Write ‘T’ for true and ‘F’ for false statement. 1X4=4
I. Lipi is adult girl.

Ii. Lipi lives in village.

lii. Lipi’s father makes doll.

iv. Lipi lives alone.

C. Write opposite word. 2X1=2

I. Big — ii. Village -




D. Change the gender.

E. Match the sounds.

Masculine Feminine
Boy
King
Horse
Son
Father
Animal Sounds
Cow Neigh
Snake Moo
Sheep Hiss
Tiger Bleat
Horse Roar
F. Change the number.
Singular Plural
Ass
Cat
Mango
Toy

Bench

1X5=5

1X5=5

1X5=5



G. Write a short paragraph about “cow”.
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Read the passage carefully.

Gandhiji visited different places to collect funds for India’s freedom struggle. Once he
visited Odisha. There he met an old woman she could not stand straight. Her hair was
grey. Her sari was torn.

H. Choose the correct one. 1X3=3
I. Once he visited - (@) Assam (b) Kolkata (c) Odisha (d) Bihar
ii. The Old woman hair was - (@) Black  (b) Yellow (c) Grey  (d) Green
Iii. Her sari was - (@) fine (b) torn (c) black  (d) Yellow
I. Write ‘T’ for true and ‘F’ for false statement. 3X2=6

I. Gandhiji Visited different places.

ii. The old lady could not stand straight.

iii. Gandhiji met an old woman.

J. Write a word with the similar meaning: 1X1=1

Woman -

K. Change the number: 1X5=5

Singular Plural

Bus

Mango

Cat

Toy

Story




L. Change the gender.

Masculine

Feminine

Dog

Horse

King

Man

Ox

M. Parts of speech @@ wis 74|
Ans:

N. Write a paragraph about “your country”.
Ans:

1X5=5
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Read the passage carefully.

A tiger was caught in a strom. He had wandered near the village, looking for something to

eat. On the outskirts of that village lived an ill-tempered old woman. The tiger huddled in

shelter close the wall of the woman hut.

O. Tick(V) the correct answer. 1X3=3
I. The tiger as caught in a - (@) rain (b) net (c) strom  (d) sea

Ii. The tiger wondered near the- (a) Town (b) city (c) village (d) Local

Iii. The tiger - (a) Easy (b) huddles (c) comfort (d) Difficult
P. Answer the following question. 3X2=6
I. What is the lesson name of this passage?
Ans:

ii. Who was ill — tempered?
Ans:

ii. Which animal mentioned in the passage?
Ans:

Q. Write the synonym of the word: 1X1=1

ill-tempered :




R. Fill in the blanks with appropriate articles. 1X5=5

I. | saw one rupee coin.
ii. There is university in our locality.
li. She is honest woman.
Iv. Sun rise in the east.
v. Always speak truth.
S. Identify the sentences: 1X5=5

I. He lives in Kolkata
Ans:
1. Who are you?
Ans:
iii. Come here
Ans:
Iv. May Allah save you
Ans:
v. Hurrah! We won the match
Ans:
T. Chose the correct verbs And rewrite the sentence : 1X3=3

I. No news (is/are) good news.
Ans:

1. My father (go/went) to Kolkata last week.
Ans:

iii. The boys (is playing/are playing) football now.
Ans:



U. Write a short paragraph about “Your village”.
Ans:



Section-C | Math | Marks-30

1. % Seafs w@rr e et | 5 X do=d0
a. Y3 IEd Foe Glifee A - ) 2 ) 11 ) 97
b. 6 a7 wfies 27 - F) 2 ) 3 1) 12
C. 4 e 5 R Kooy Tyl = - %) 15 %) 12 ) 20
d. 12 ¢ 15 97 7.97.%. T - %) 30 ) 60 1) 90
6. G35 SeFS T T - 1= 9 ﬁ)g
f. «2f5 ¥ @I W 7R - %) 80° €) 120° o) 90°
g. XCI 97 &9 Wil 1= =6 - %) 41 4) 51 ) 91
h. 9= 38T T@F 747 - ) 6 ) 5% ) 3%
i. V225 @9 v %1 - J) 25 %) 5 ) 15
j. 10 Rl ¢ 15 Rell @7 Sgere =@ - 3) 5:2 %) 3: 4 %) 2:3
2. Siovw eelE Ter we: X b=V
a. TR fagread foqfs @R wgHre T ?
a1

b. JEET FICF A 2
Teq:

C. 2010 34 2t 2023 A 1@ forsi3a 727 3 ?
@W:

d. 1225 @3 31 st |
@Wz

e. GifAfEIe SicE I 2
@W:

f. ST TR DO @FB 90° (FIel FFF FCAT |
@W:



g. 0.081 & 1y aterst e T |
@@ﬁ:

h, %@Wwwl

@@ﬁ:
3. o exelEm e whe: XY =33
a. S 28.8 + 1.2
@@ﬁ:

b. zfewcag @6 I W 5.2 @GN I CFaoe 0 Z(A?
@@ﬁ:

3 2 1 1
C. AR —+-—Gq - 99 —
8 3 9 16

@Gﬁ:

d. 40%@@?%@@%%%?
@@ﬁ:



e. TOINE IO I 8 IZF, x IZF W (ST I7 F© =e ?

Wz

Section-D | General Knowledge

Marks-15

o.

CNG & 7 =T G0 |
W;

e o e |
Taq:

. QG O IoF FI (0T |

@W:

. e RSeore I (&0 |

@W:

. IR &S I @AY

W:

SIATed Ao e e 2
W;

TS S AT F 2
@W:

W;

. IOT ifEE 2

Wz

3¢ X > =



So. R Areerox F (I ?

W:
5. SRS f&as neeR @4 @15 (Coach) T 2
@W:
S, ORI TIPT 2020 UF #NF TS BRGSO F[F F© ?
@W:
9. AN TSN FEFINET & 2
@W:
8. T[S YT Tl (FG ?
@W:
SC. U TPY ORICSH (I AT SAES ?
@W:
Section-E \ Islamic Knowledge | Marks-5
Y. TFE FICE 6 ? ¢ X S=¢
@W:
AL IR
@W:

©. W 939 fTor Tie JIw 2
@W:

8. TGIE S (FIF *1Z(F QTS ?
@W:

¢. TS o7 AfeTH Wk o AT TN F 2
W:



o HASHIMIA INTERNATIONAL ACADEMY

ADMISSION TEST-2024
CLASS: - VI F.M.- 100 TIME: 2:30Hrs

= DR
AT - R0
3ufer - wo
Roll: C.Code sfere- wo

A TelF-d¢
Ph: NS [q0- ¢

(B-do00

Name:

qICI | ©IF A0 TR S (RS SR |

f “Iffire @ T Teraa & RO Ty (e 209 | Il wsifeveayel @ S e MWWJ

-

| Section-A | Bengali | Marks-20 |
>, A5 Tl i s € X d=¢
5., ‘AT ST G -
(<) feer () Tl (o) AT () cSifes faaas g
5.8, AINEHC = Regrar TFeT JIMow AT -
(F) FrnATer () T AT (°F) BT gt () cerc=Tiret
>.9. TAfTEm T& ‘BLaEfs’ *twd 9 -
(F) T@r s (%) nife =i (o) IET TSl (9) @i e
».8. NI A=, “Afee -
(F) QRT T (¥) Tgfe & () SYeIM (9) ST HARRCE
>.¢. A g qoy FA I SNt ?
(¥) foao (<) oG (°f) =G (%) =&
2. S T Qo7 Teq whs: b X 5=t
2.5, AR 31 0 797 TgroreifG F T 2
Tex:
2.2, DI 73 MILE R (I S0 ?
Tex:

2.9, “TARCT AT B - AT (AT (FIe] TS AT ?
@Wz

2.8. T M TF QO =7 G0 HRad 1% JF 2
@W:

2.¢. O I (FN OIS AT =0T ?
@Wz



Y, W AER DR (F 2
Teq:

2.9. “C7 TJF F AMNE X @OIR |7 - NF FF 06 ([IR ?
@W:

.. B 8 T @7 e IR @ 2
@Wz

o, JIFAPTS e ot Tex ws:

©.>. ANLF 2 (@0 N ATE gfo: Tar > X 5=
@W:

0.3, *YAER S AL @Y | > X 5=3
T ettt e e et oot et et et e et et et eaeea e et et eea e e e et et e eae st et et eeaeaneetensesnenneeeens
T £ ettt ettt ettt e e et et et e et e et et et et er e e e aa e et et et et e et et eaeeaeeae et et et et eaeetenaeesenteneenes

w0, AfF [eomm e iEe = S X 5=)

©.8. AW (ETCA: 7 = > X 3=3
©.¢. AV RSN ST X d=3

0., FC6F T (AT I AW Y& T FE!: S X 5=

(F) G o TTo #ITel, (SIS S (@0 21 |
@W:

| Section-B | English | Marks-30

Read the passage carefully.

Long, long ago, in the beautiful island of Sicily, there lived a goddess called Ceres, she
was the goddess of crops, plants and trees; so on her depended the health and happiness of
his wide world.

A. Tick(V) the correct alternatives. 1X3=3



i. The island was -

(@) ugly (b) soft (c) beautiful (d) hard
Ii. The goddess name was - (a) proserpine (b) Ceres  (c) Pluto  (d) Spring

ii. She was the goddess of - (a) crops (b) plants

B. Answer the questions:

(c)Trees (d) crops, plants and trees

i. What was the name of the island?

AnNs:

1. Who was the goddess of crops plants and trees?

AnNs:

iii. What was the name of the text?

Ans:

C. Write the synonym of the word:
Beautiful:
D. Write proper degree of adjective.

3X2=6

1X1=1

1X5=5

Positive

Comparative

Superlative

Clever

Big

Happy

Beautiful

Good

E. Write the proper forms of verbs.

I. They

ii. She

(goes/are going) to school.

Iii. He has

(go/goes/went) to Kolkata yesterday.

(eat/ate/eaten) now.

F. Identify the participle adjective.
I. Runa is a trained nurse.

Ans:

Ii. Do not board a running bus.

Ans:

1X3=3

1X2=2




G. Put the noun in the boxes.

1X5=5

Proper Noun

Common noun

Collective
Noun

Material noun

Abstract Noun

Nouns: Class, Rahim, teacher, friendship, ring
H. Write a short paragraph about ‘Tree’.
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| Section-A | English | Marks-20 |
Read the passage carefully.

On top of the shed the cat arches his back and rakes his claws once or twice through the soft bark of the
old roof. He stretches himself a few times to see if every muscle is in full working order. Then, drooping
his head nearly to his paws, he sends across a call to his kindred. Before long they come, gliding, graceful
shadows. No longer are they the meek creatures who an hour ago were mewing for fish and milk. They
are now grim fighters.

Just think how much more he gets out of his life then you do out of yours! And the sports they have, too!
As they get older they go in for sport to the suburban backyards. These backyards that are dull to us, are
to them hunting grounds where they have more gallant adventure than King Arthur's knights ever had.

A. Complete the following sentences with the formation from the text: 1X3=3

a. The knights of the king Arthur

b. The cats get more out of life than

c. The cat rakes his claws

B. Answer the following questions: 2X1=2
a. Why does the cat stretch himself a few times?
Ans:

C. Do ad directed: 1X5=5
a. We must eat to live. (compound sentence)
Ans:

b. The boy said to his friend” “Do you have an extra pen? (narration change)
Ans:

c. We listened to the broadcast. (Voice Change)
Ans:

d. Undoubtedly Tagore is the greatest poet of modern India. (Change into Complex Sentence)
Ans:



e. He answered the question confidently. (Write Noun form)
Ans:

D. Suppose your friend wastes study hours by using Android Phone. Write a letter to him giving
advice as a friend. 10

Points: What he should do to avoid a phone set — why he should not waste study hours — who can
be his model — what he do is in leisure time.
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